[ Efficiency vs vertpos |

©

o

=
IIIIIIIIIIIIII

T T
-
3
-
<>

0.95 : :
1072 10 1

10 0?
TP vertr (cm
[—— /dataZNegianni’/pareto-opurestaryCMSSW_I4_U_5/STC/MTV-ploDQM_TT__origmal PO |

—e— DQM_TT__trainAll2_PU

i —— DQM_TT__trainAll2pth_PU
@ —— DOM_TT __trainAll2ptl PU
~ 0.1

$0.09
)
>0.08
>
<
50.07
(&)
£0.06
()
0.05
0.04
0.03
0.02
0.01
e

9¥™p—=20 -10 0 10 20 30
TP vert z (cm)

Ratio

[y

T
.
‘s

[ Efficiency vs. sim PV z |
~ 0.1
>
2.0.09
S
#0.08
£0.07
3
£0.06
Q
o
£0.05
3]
0.04
0.03
0.02
0.03

1.0

Ratio

I
A
%

- T ETT H

0521510 -5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


